This report contains the transfers results.

Contest Name

Ward 1 - Annick

Valid Votes
6,184

Positions to be Filled
Quota
4
1,237

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John CAIRNS	Independent	627
Stephen CANNING	Scottish National Party (SNP)	1,048
Ellen FREEL	Independent	812
Wendy HANNAH	Scottish National Party (SNP)	998
John MCFADZEAN	Scottish Conservative and Unionist	1,516
John MCGHEE	Scottish Labour Party	1,183
	Total	6,184

Candidate John MCFADZEAN Elected with 1,516 votes, being in excess of the quota of 1,237

This report contains the transfers results.

Stage 2 - Surplus of John MCFADZEAN

279.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNS	215	0.18403	39.56645
Transfer to Stephen CANNING	23	0.18403	4.23269
Transfer to Ellen FREEL	329	0.18403	60.54587
Transfer to Wendy HANNAH	33	0.18403	6.07299
Transfer to John MCGHEE	474	0.18403	87.23022
No further preference	442	0.18403	81.34126
Not transferred due to rounding			0.01052
	Total		279.00000

This report contains the transfers results.

Stage 3 - Surplus of John MCGHEE

33.23022

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John CAIRNS	225	0.02616	5.88600
Transfer to Stephen CANNING	67	0.02616	1.75272
Transfer to Ellen FREEL	396	0.02616	10.35936
Transfer to Wendy HANNAH	127	0.02616	3.32232
Transfer to John CAIRNS	107	0.00481	0.51467
Transfer to Stephen CANNING	5	0.00481	0.02405
Transfer to Ellen FREEL	170	0.00481	0.81770
Transfer to Wendy HANNAH	11	0.00481	0.05291
No further preference	368	0.02616	9.62688
No further preference	181	0.00481	0.87061
Not transferred due to rounding			0.00300
	Total		33.23022

This report contains the transfers results.

Stage 4 - Exclusion of John CAIRNS

672.96712

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen CANNING	84	1.00000	84.00000
Transfer to Ellen FREEL	300	1.00000	300.00000
Transfer to Wendy HANNAH	55	1.00000	55.00000
Transfer to Stephen CANNING	4	0.18403	0.73612
Transfer to Ellen FREEL	158	0.18403	29.07674
Transfer to Wendy HANNAH	2	0.18403	0.36806
Transfer to Stephen CANNING	12	0.02616	0.31392
Transfer to Ellen FREEL	124	0.02616	3.24384
Transfer to Wendy HANNAH	10	0.02616	0.26160
Transfer to Stephen CANNING	1	0.00481	0.00481
Transfer to Ellen FREEL	58	0.00481	0.27898
No further preference	188	1.00000	188.00000
No further preference	51	0.18403	9.38553
No further preference	79	0.02616	2.06664
No further preference	48	0.00481	0.23088
Not transferred due to rounding			0.00000
	Total		672.96712

This report contains the transfers results.

Stage 5 - Exclusion of Wendy HANNAH

1,063.07788

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen CANNING	941	1.00000	941.00000
Transfer to Ellen FREEL	57	1.00000	57.00000
Transfer to Stephen CANNING	21	0.18403	3.86463
Transfer to Ellen FREEL	4	0.18403	0.73612
Transfer to Stephen CANNING	88	0.02616	2.30208
Transfer to Ellen FREEL	18	0.02616	0.47088
Transfer to Stephen CANNING	7	0.00481	0.03367
No further preference	55	1.00000	55.00000
No further preference	10	0.18403	1.84030
No further preference	31	0.02616	0.81096
No further preference	4	0.00481	0.01924
Not transferred due to rounding			0.00000
	Total		1,063.07788

Report Name: Transfers_V0002_Ward-1---Annick_06052022_145115.pdf Created: 06-5-2022 14:51:15